ok ok % B OB B E

L fz E
SIURNIER 1 =88. Okm

LRI KFIERE  ARMELER  O0ARE RA-PsER iR
L =13. 6km L =12. 1km L=43kn L =12. Okm L =13. 5km
HI0. 386/ |1 =3, lhn | =4, Tha L. =4 3 H?ﬁ»ml? H23. 21 RSAEJEE
H19.9 | H20.3 |H5.12 | 7 A gERs Ja.
wn | #n = ﬁ j;é ERREIE T T =
st 2] o] | 0 AR | B
K] T o] ] 28 g o EdR
Al ettlii= i e 1] TG eTIc:
IcHICI ¥ Ic IClICRIC
5 O e o (LR ) . g
//%% o O {%O R N e _\..,i S HE
A o= B EIC - ) A ST 9| =
® Pi(=FiY i) 2 1= 1‘%"’1 AL NFT V=YL Y Z‘ sla o -
\% 4 & ST | sl flaEmIc 1=6. 3k H25. 311 G RS -~
S =] = - £
0 KFIC ; A IC e o g . E%
T olklmEEA~—FIc] — Y gs Tlg 1IE
X 123, 6 B S S| X K
IR = Slo | | |3
N =
NS ; N o w|HH
M- € o N Ewte | BT
£ Ea)e S %, g Yo" el 2ET | T
== 5 " %, %8 BIAMIC) g2 ¢ Hlo | x|l
= & A & "3 P & £ (WA
o 23 £ T = [ 12 &
Jo) B - . E- sy | I
; & < | Eli
-]-E-l— R T Hm|
= P = A g =
qm| -1
gl 4 s H
—Nuﬁ_ i 5 [
| = { i SAtkIC o &R
= B = o — O[T
senk =y 0
RN =7 |
a2 = gg\'é e
LIT 2, f
<8> - & 0 3 O E#E 1C
1 . ] 1 8 = H—F =V
3 e = ,.7 \Jé B EHeas)
Z B B < |3 Oy o
I~ B IE Y H 0000 | HiilxH(FET) |
A & N B
| e E N
(B GLERR) |# R6.4.13R7E




